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2019

PRIMARY 4

MATHEMATICS
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour 45 minutes

Additional materials: Optical Answer Sheet (OAS)

INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do so.

Follow all instructions carefuily.

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.
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Questions 1 to 15 camry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4)

and shade your answer on the Optical Answer Sheet. (30 marks)
1. In the number 58 749, which digit is in the ten thousands place?

(1) 8

(2 7

3) S5

4) 4

2. Which one of the following is 90 317 in words?

(1)  Nine thousand, three hundred and seventeen.

(2)  Nineteen thousand, three hundred and seventeen.

(3) Ninety thousand, three hundred and seventeen.

(4) Ninety thousand, three hundred and seventy.

3. In which of the following are the numbers"arranged from the smallest to

the greatest?

(smaliest) - (greatest)
(1) 8736, 70836, 37680, 36078
(2) 8736, 36078, 37680, 70836
(3) 36078, 37680, 70836, 8736
(4) 70836, 37680, 36078, 8736
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4. The price of a car is $99 000 when rounded to the nearest thousand
dollars. Which of the following amounts cannot be the price of the car?

(1)  $98 500
(2) $98930
(3) $99499
(4)  $99 590

5. Which of the following is not a factor of 647

1 1
2 2
(3) 6
(4) 8

4
6. Which one of the following fractions below is equivalent to 72 ?

(1)
(2)

Bl Wi N =

(3)

(4)

D=
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7. Which one of the following fractions is smaller than 5 ?

m 2
@ 2
@ 3
@ 2
8. Express —569 as a mixed number in its simplest form.
(1) 23
4
@ o
@ 6
@ e
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9. Enzo coloured 3 of the circles below. How many circles were
coloured by him?

O O O O O O O O
O O O O O O O O
o O O O O O O O
©C O O O O O O O
(1) 20
(2) 12
(3) 3
4 5
10.  Name the marked angle.
P
Q
R
(1) zPQR
(2) LPRQ~
(3) <«QRP
(4) <«RPQ -
4
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11.  Alison has $1043. Linda has 7 times as much money as Alison. What
is the total amount of money that the 2 girls have?

(1) $1192
(2) $7301
(3) $8344
(4) $9044

12.  Which one of the following figures in the square grid below has both
paraliel lines and perpendicular lines?

N
Z

™ @ 0 @

13. After making a quarter turn in the anti-clockwise direction, Ahmad now
faces the playground. What place was he facing at first?

Hospital
Library School!

MRT Shopping Mall

Playground Swimming Pool %

Market

(1)  Market

(2) Swimming Pool
(3) MRT

(4) Library
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14.  Zachary has 7 number cards shown below. He used all the number
cards to form the greatest 2 - digit even number and the smallest 5 - digit
odd number at the same time. Vhatis the difference between the two
numbers that Zachary formed?

Each number card can only be used once.

3|17/10/(9] 5] 8] |1

(1) 10259
(2) 10261
(3) 10357
(4) 10358

156. Karl, Lim, Mary and Navin are each competing in a different sporting
event at the Olympic Games — basketball, swimming, tackwondo and
women's rhythmic gymnastics. Karl and Navin do not know how fo
swim. Mary is the only female. Karl’s event does not require a bali.
Which event is Navin competing in?

(1) Basketball
(2) Swirhming
(3) Taekwondo

(4) Rhythmic gymnastics
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MATHEMATICS
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour 45 minutes

INSTRUCTIONS TO PUPILS

1. Do not turn over this page until you are told to do so.
2. Follow all instructions carefully.

3. Answer all questions.

4. Write your answers in this booklet.

Name: i ( )

Class: Primary 4 ( )

Parent’s .Signéture: |
Booklet A /30
Booklet B 170
Total / 100-

Any query on marks awarded should be raised by 24 May 2019. We seek your
| understanding in this matter as any delay in the confirmation of marks will lead
to delays in the generation of results.
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Questions 16 to 35 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (40 marks)

16. Some common factors of 18 and 54 are 1,2,3 and 18. What are the
other two common factors of 18 and 547

Ans: and

17. Two of the numbers shown below are multiples of 7. Circle the

numbers that are multiples of 7.
)

© |
44 19 77
30 11

56 10
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18a)  Measure and write down the size of 2y.

Ans:

18b) In the figure below, which line is parallel to line JK?
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19. Using a protractor and a ruler, draw 2ABC = 75°. Mark and label the
angle.

20.

A

B

Study the'square grid above and fill in the blank with A, C, D, E or F.

Point B is north-west of Point
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21.  Anneis at the zoo. She is facing the tiger. How many degrees in the
anti-clockwise direction- must she turmn if she wants to face the
elephant?

T YT
ot -\-.“ A i“}'

w2
Y,

crocodile

N
1
’1.1,» elephant
panda bear 8
penguin
Ans: °
22.  Complete the number pattern. ‘
39 898, 38 898, 38 948, 37 948, 37 998, . 37 048, 36 048
Ans:
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23. Find the third common multiple of 4 and 6.

Ans:

24. A tennis racket and 3 identical tennis balls have a total mass of 536 g.
2 such tennis rackets and 3 such tennis balls have a total mass of
904 g. What is the mass of a tennis racket?

Ans: g

25. MrWoo saves $207 each month. How much does he save in 1 year?

Ans: $
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26. The product of two numbers is 2304. One of the numbers is 4, what is
the other number?

Ans:

4
27. Johan read 5 of a book. There are 72 pages in the book. How many

pages were not read by Johan?

Ans:

28. In the number line below, what is the fraction indicated by the arrow?
Give your answer as an improper fraction.

Ans:
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29. In the figure below, rectangle KLMN is made up of 20 unit squares.

3
Mike was asked to shade 5 of the squares below. Then he was

asked to shade another 4 squares. What fraction of rectangle KLMN
would he have shaded altogether? Give your answer in the simplest

form.

Ans:

1
30. Parcel C has a mass of a kg. The total mass of Parcel C and

5 A
Parcel D is 2 kg. How much heavier is Parcel D than Parcel C?

Ans: kg

Solutions at https://www.sgtestpaper.com/ 7



31. The figure below shows the cyciing paths joining four pavitions, J, K, L
and M, in a park. What is the length of the shorter cycling path from K
to M? Give your answer as a mixed number.

Z km
3 K 8
= km
J L
- km 2
4 " > km
Ans: km

32. A bakery sold mooncakes with four different types of fillings: Red
bean, Peanut, Lotus seed paste and Durian. The table below
shows the fraction of the number of mooncakes sold for each type
of fillings in one day.

Fraction of the number

Types of fillings of mooncakes sold

Red bean

Peanut

Lotus seed paste -

N (N == 0] -

Durian

What fraction of the number of mooncakes sold were of Durian fillings?

Ans:
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33. Janil has 185 packets of beads. Each packet of beads contains 59
silver beads and 2 gold beads. How many more silver beads than gold
beads does Janil have?

Ans:

. 2
34. A jug contained some juice. Xiao Yun poured out 3 £ of the juice to

1 8
drink. Mrs Yeo added 5 £ of juice into the jug. There was 9 £ of juice in

the jug in the end. How many litres of juice was there in the jug at first?

Ans: i

) ' : 3 :
35. Ashanti had $2100. She spent 7 of her money on food, $100 on .

transport and the rest on clothes. What fiaction of her money did

Ashanti spend on clothes?

Ans:
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For questions 36 to 43, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question. (30 marks)

36. A tank and a flask contained a total of 3000 ml of water at first. David
spilled 345 ml of water from the tank. He then transferred 480 m! of
water from the tank to the flask. As a result, the tank had twice as
much water as the flask. How much water was in the flask at first?

Ans: (3]

37. Liting rolled a white 6-sided die and a black 6-sided die at the same
time. She muitiplied the 2 numbers on the face of each die. How many
possible ways can Liting get a product of 127

Ans: (3]

10
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38.

39.

1
Mrs Molly bought 2 ¢ of cooking oil. On Sunday, she used 2 ¢ of

1
cooking oil. On Monday, she used -2-8 of cooking oil more than on
Sunday.

(a) How much cooking oil did she use on both days altogefher’?

(b) How much cooking oil did she have left?

Ans: (a) _ 21
(b) _ [2]

2 2
Matt had a piece of wire. He used 7 of it to make a bookmark and 3
of it to make a basket.

(a) What fraction of the wire did he use? '

(b) What fraction of the wire did he have left?

Ans: (a) _ (2]

(b) _ 2]

Solutions at https://www.sgtestpaper.com/ 11



40. The points on the square grid below show the location of some
landmarks. Refer to the square grid and answer the following

questions.
Market
Playground
L
it
HINR
Library |A N
T "
1 unit g s
Hospital
1 unit 12]

(a) Inwhat direction is the hospital from the market?

(b) Raviis in school facing north. He makes a 225° turn
clockwise. What place is he facing now?

(c) The town council wants to build a swimming pool.
The location of the swimming pool is to the east of the library
and north-east of the shops. Putatick ( v ) in the square
where the swimming pool will be built.

(d) Atfirst, Penny is at point A. She walks 1 unit to the north,

2 units to the east and 1 unit to the south. Put a cross (X)
on the square grid to show where Penny is in the end.

Ans: (a) (1]

(b) _ (1

12
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41.  Mrs Ng and Mdm Amira went to a bakery.

Sweet Secrets Bakery

1 for $36 .
Muffin

2 for $5

(a) Mrs Ng bought-24 cakes for a school carnival. How much did she
pay for all the cakes?

(b) Mdm Amira bought an equal number of doughnuts and muffins
and paid a total of $90. How many muffins did she buy?

Ans: (a) {2]

(b) (2

Solutions at https://www.sgtestpaper.com/ 13



42. Barney used circles and squares to make pattems as shown below.

Q Q O O O O
O NG 0 O

O O 0 o 0O 0O

Pattern 1 Pattern 2 Pattern 3

(a) How many circles were there in Pattem 1027

(b) Barney made a pattern with 52 circles. How many squares were

there in this pattern?

Ans: - (a)

(b) .

(21

(2]

14
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43. Ah Huat had some chickens on his farm. He gave 2 of the chickens

7
to Seng Choon and 1 of the chickens to Jin Heng. Ah Huat gave Jin

Heng 84 more chickens than what he gave to Seng Choon. How many

chickens did Seng Choon receive from Ah Huat?

Ans: {4]

End of Paper
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1hows the fraction of the numbar of Mooneakes sold for oe

n Fraction of the number
of moancakes soid

1
Rod boan H
1
Peonul h
1
Lotz so0d pasls 3
Qurion ?

What fraction of the Aumber af mooacakes sokd were of Ouren flings?
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..l;,r x*&.m % ulT
Hovodsl
Vot T ©
() inwhat etrection Is tha hosphafEum .m&io
== — 130° 445"

) Redmin NOMh. He matos & 226° tum
he facing now?

(e} ?gggsgvég,
#lvﬂcglgiﬂl\dooo_rs,.io«c&g:\
and norhaast of he 370ps. Pt A BEK{ 7 } I the square
whare tho swimming pool wil b6 dusl. '

{@) Alfust, Penny 8 stpoint A, Bhe wals 1 unk to tho north,
2wty to tho oxxt end T unt 10 the s0uLh, Put & qose O
ON 10 8QUAKD grid 10 show where Penny is In tho ond.

ane: sy South-cad

s

o by

33, Jank has 135 packats of baads, Each peckat of beads contains 5%
Slivor boads and 2 gold beads. How many more s beada Than goid

beads doos Jand hava?
4l | ppaet —» 58-2257 more
% _MM 185 paterts — 1355 577 7 10545 (ans)
nrmﬂw
r9250
0595 wy__ 10545

M. t?ﬂuség.ﬁsas}n.voﬁggm-o:&s
Srin, §<8§KW—QEE?S.?¢§M~QES
Sosswaes.m.xotsn‘m.ﬂo;uooigsgzo_g
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D05 %
. =X
473

143 =3
B

9 g lE R

4 of 2100
35.  Ashantf had $2100, migw of hor monoy on food, $100 on

Farspont and the roet o0 clothas, 55@1335&
Asbant 8pend on clothes?

- = DQ
i 200 (Fed)
Q00+ 100 = 1000
2100 ~ 1000 = 1100 ( cletes)
Cléhes |, 1100 R
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41, Wrs Ng end Adm A woend © 3 bakory.

For quastions 38 1 43, ehow your working Gloarty and wiks YOUr BREWOSS in
tho spaces provided. The number of manks Swelabio [ ehown Un brackets { )
Bt e end of each QUESHoN or partquosbion. + (30 morke)

35, A water tank and a flask contalwd @ total of 3000 ¥ of walor at fArst,
Devid 3piiod 345 mi of water from the tank, nﬁhﬂﬁ%
of SRIAL 1o [he tenK 1o the fleak. As a fesu ank & [

Eglca;xggg!-swailg

Iy i

g‘.@mﬁ% 4,?
3.;.5 m .xﬁ
{
7 _34% = 2655

2o ~» 3000 =345

lu - 2b55 =3 * 885
885 - 430 = 405 (e}

o 405 mt

27, Uong rofed a whits G-ekdod e arxt a black G-eidod Cie at the same

Uma. She frlliplied the 2 tunbens on Lhe 1aco o soch dre. How many
possbie ways can LIing gat & produc of 127

R (TN S TS
Lo ]-# [role~ KP!

3
(ans) 4

Sweet Secrets Bakery
Cake

Ooughnut
m Tfor$2
1K S
or $3

21or §5

{8) Mr3 Ng bought 24 cakes [or & echool camival, How much did sha
pary tor all the cakes?

(>} Mdm Amirs bought an mnbor of doughmuts and mufMng.
‘ and pakd a total of $60. ‘marry mulfing &% she buy?

‘3 3% % 2% = §864 (aue)
L3
T 2M4 2D > §54 42 +42 =89
.ﬁ%ﬂm $80=5§9= 10 (st of 242D)
042220 (anb)

P

®) 20 i}

42 Bamoy usod dtcies end sGuarns to cuks petams es shown balow,

1 42
Patami Priam Puzem 3

d 2
24182 2+ 1%2 2+3x2

{0) How many cirties wer thare tn Patiern 1027

(b} Bamoy made & pettorn wAh 62 circias. How miny squares wero
ere n this patant?

02x2 + 204 £ lx2=2
W 125 206 (o) . DHELb ()

§7-2°50 {Tatzaney the itfr b right)
5052%25 (@s%)

I

1
e Moty 22 )¢ cocking oL, On Sunday, #he taed =t of
cooting ob. ?z&a.«.zsiaw.n.gd@!!

(o) zotalﬂ.nx_&.oa-en:liooauusonﬁ.ﬁﬂb

(b} How truxch cooking oF &d sho have lot?
F R
ha=>np*ty1*n*n
gt
\ - n
Bt - ._,m ‘R .Wﬁa&eu

2 38
\N|WHW-H £y .mh
124 * 3l

=14 A (o)
~_v (o) o) _mwu.»n«m\:s.

.

2 2
Mot had a plecs of wire. He used H o R to maka 8 bookmark snd 3
of Kt mako & daskat
(8) What fracton of tho wire di ho usa?

{0) What fraction of T wire did ha have laft?
—
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. Ah Huat hed somea chickens on his farm. x.odim of e chkkans.

4 ew—ra
Ggggmﬂm of the chickens & Jin Heng. Ah Huat gave Jn
Kong 84 more chickans tharn what M pave £ Seng Choon, How many
enickons ddong Ghoonlreceive from An Huet?
T S ﬂa.wm
TH oG

1 .24
1271 o

b wits - 84
turr — 83 4 =21
3 usiy -» 3%20 " 43 (ans)
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